5.5. Integration by Substitution Monday, April 16, 2018 8:04 AM

Recall: FTC.

$$\int_{a}^{b} f(x) dx = F(x) \Big|_{a}^{b} = F(b) - F(a)$$

definite integral

FTC - Part II:

$$\frac{d}{dx}\left(\int_{a}^{x} f(t)dt\right) = f(x)$$

result is a function

More generally,
$$\frac{d}{dx} \left(\frac{g(x)}{f(t)} \right) = f(g(x)) \cdot g'(x)$$

$$\underbrace{1} \int_{1}^{\infty} \frac{x-1}{\sqrt{x}} dx$$

$$(2) \int_{0}^{\infty} (u^{2} + e^{u}) du$$

$$3) \int_{3}^{48} d_3$$

$$4 \int \frac{8 du}{1 + u^2}$$

E.x.

Find
$$h'(x)$$
 given $h(x) = \int \frac{t^2}{t^4 + 1} dt$

Sol:
$$\frac{g}{1}$$
 $\int \frac{x-1}{\sqrt{x}} dx = \int (\frac{x}{\sqrt{x}} - \frac{1}{\sqrt{x}}) dx = \int (\frac{1/2}{x} - \frac{-1/2}{x}) dx$

$$= \left(\frac{2x}{3} - 2x^{\frac{1}{2}}\right) \begin{vmatrix} 9 \\ 1 \end{vmatrix} = \left(\frac{2 \cdot (9)^{3/2}}{3} - 2 \cdot (9)^{\frac{1}{2}}\right)$$

$$= \left[\frac{2(1)^{3/2}}{3} - 2 \cdot (1)^{1/2} \right]$$

(2)
$$\int_{0}^{1} \left(u^{2} + u^{2}\right) du = \left(\frac{u^{2+1}}{u+1} + u^{2}\right) \left(\frac{u^{2}}{u+1} + u^{2}\right)$$

$$= \left[\frac{(1)^{\ell+1}}{2} + e^{\frac{1}{2}} \right] - \left[\frac{(0)^{\ell+1}}{2} + e^{0} \right]$$

$$= \frac{1}{e+1} + e - 1$$

$$3) \int \sqrt{\frac{3}{3}} d_{3}$$

$$= \int \left(\frac{3}{3}\right)^{1/2} d3 = \int \frac{18}{3^{1/2}} d3$$

$$= 3^{1/2} \cdot \left(\frac{3}{3} \right)^{1/2} = 3^{1/2} \cdot \frac{3^{1/2}}{3^{1/2}} = 3^{1/2} \cdot \frac{3^{1/2}}{3^{1/$$

$$= 2\sqrt{3} \cdot 3^{4/2} \Big|_{1}^{18} = 2\sqrt{3} \left((18)^{1/2} - 1 \right)$$

$$\frac{4}{\sqrt{3}} \int_{\sqrt{3}}^{\frac{1}{3}} \frac{8 du}{1 + u^{2}} = 8 \cdot \int_{-\frac{1}{4} + u^{2}}^{\frac{1}{4}} du$$

$$= 8 \operatorname{anctan}(u) \Big|_{1/\sqrt{3}}^{\frac{1}{3}} = 8 \left[\operatorname{anctan}(\sqrt{3}) - \operatorname{anctan}(\frac{1}{\sqrt{3}}) \right]$$

$$= 8 \left[\frac{\pi}{3} - \frac{\pi}{6} \right] = 8 \cdot \frac{\pi}{6} = \frac{4\pi}{3} .$$

$$= \frac{1}{4} \int_{-\frac{1}{4}}^{\frac{1}{4}} dt \cdot \int_{-\frac{1}{4}}^{\frac{1}{4}} d$$

Monday, April 16, 2018

Integration By Substitution (u-Sub)

$$\int x^{n} dx = \frac{x^{n+1}}{n+1} + C$$
(n \div -1)

$$\int \frac{dx}{dx} = \ln|x| + C$$

$$\int \frac{dx}{x} = \ln|x| + C$$

$$\int \sin(x) dx = -\cos x + C$$

$$\int \cos(x) dx = \sin x + C$$

$$\int e^{x} dx = e^{x} + C$$

$$\int \frac{dx}{1+x^2} = \arctan(x) + C$$

$$\int u^n du = \frac{u^{n+1}}{n+1} + C$$

$$\int \sin(u) du = -\cos(u) + C$$

$$\int \frac{du}{1+u^2} = \arctan(u) + C$$

The original integral (in x) now becomes the following integral in u:

$$\int \sin(u) du = -\cos(u) + C$$

$$= -\cos(x^3) + C.$$

$$\int \sin(x^{3}) \cdot 6x^{2} dx \stackrel{?}{=} du = x^{3}$$

$$\int \sin(u) \cdot 2du = 2 \int \sin(u) du = -2 \cos(u) + C.$$

$$= -2 \cos(x^{3}) + C.$$

$$\int \sin(x^{3}) \cdot 18 x^{2} dx = -6 \cos(x^{3}) + C.$$

Find
$$\frac{1}{3} \int \sin(x^3) \cdot 3x^2 \, dx$$
. Let $u = x^3$

$$du = 3x^2 dx$$

$$\frac{1}{3} \int \sin(u) \, du = -\frac{1}{3} \cos(u) + C$$

$$= -\frac{1}{3} \cos(x^3) + C$$
In general, if you have an integral of the form
$$\int f(g(x)) \cdot g'(x) \, dx$$
Then $u - \sin will work$.
Let $u = g(x)$. $du = g'(x) dx$

Original integral be comes
$$\int f(u) du$$

$$\frac{1}{2} \int_{0}^{2} \frac{u^{2}+4}{2x dx} = \begin{cases} \frac{1}{2} \int_{0}^{2} \frac{u^{2}+4}{2x dx} = \frac{1}{2} \int_{0}^{2} \frac{u^{2}+4}$$

$$\frac{E.g.}{\cos^{2}(x)} = \sin x \, dx$$

$$- \int u^{2} \, du = -\frac{u^{3}}{3} + C = \frac{\cos^{3}(x)}{3} + C$$

$$= \int u^{2} \, du = -\frac{u^{3}}{3} + C$$

$$= \int u^{2} \, du = \frac{1}{3} \, dx$$

$$= \int u^{2} \, du = \frac{1}{3} \, dx$$

$$= \int u^{2} \, du = \frac{1}{3} \, dx$$

$$= \int u^{2} \, du = \frac{1}{3} \, dx$$

E.x. (1)
$$\int_{3c^2 \cdot e^{2c^3} dx}$$
 (2) $\int_{e^{x} \cos(e^{x}) dx} dx$.
(3) $\int_{\cos^{3}(t)} \frac{\sin(t)}{\cos^{3}(t)} dt$ (4) $\int_{3c^2 \cdot e^{2c}} \frac{dy}{\sqrt{2c^2 + 5c}} dy$
(5) $\int_{\cos x} \frac{\tan(t)}{\cos(x)} dx$ (6) $\int_{3c^2 \cdot e^{2c}} \frac{\tan^{-1} x}{1 + x^2} dx$